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P-254 6. A T-ball player hits a ball from a tee that is
0.6 m tall. The height of the ball at a given A@
time is modelled by the function oL
h(t) = —4.9¢* + 7t + 0.6, where height, S

h(t), is in metres and time, ¢, is in seconds.
a) 'What will the height be after 1 s?
b) When will the ball hit the ground?
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p. 254 _ . _ .
8. For the function f{x) =%}~ + 8x + 5, what

value(s) of £ will have % _ = —
a) two distinct real solutions? %4 F/@ é 8 < S—
b) one real solution? \;7&/—”7
c) no real solution? \r
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Today's Learning Goal(s):

By the end of the class, | will be able to:

a) Define the following terms: acute angle, right angle, hypotenuse

b) Use the Pythagorean Theorem (PT) to find the length of a side.

c) Identify the opposite, adjacent and hypotenuse side of a triangle
relative to a given angle.

MCF 3MI Unit5:  Getting Started e Al /0//07
At
SOH CAH TOA
[
l,) sing = %@ﬁ
}( maa/thm XP‘
% Qe» cos 9 = /@o@
|\(\9 A tan § — W é\» P
B Qd\jq(eq‘f‘ dd)
Ex. 1 State the primary trig ratios for /A4 /O A
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Ex. 2 Calculate the measure of the indicated angle.

a) b)  Method: Label, Ratio, Solve.
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Ex. 4 Use a calculator to evaluate to the nearest thousandth (3 decimal places).
a) sin72° b) tanl1° ¢) cos49°
= 09510 = 01943 ' oéséf)
EX 3 Use a calculator to determlne 9 to the nearest degree
) sinf=0.8377 b) tand =0.2347
O-= 'sm“(o&%ﬁ\ 9= 1[5% T@Q}(/i)
Tk =3

Homework: pp.261-262 #2-9



	Page 1: Apr 10-1:26 PM
	Page 2: Apr 11-4:47 PM
	Page 3: Apr 6-9:23 PM
	Page 4: Apr 6-9:23 PM

